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Test Paper (1)

Part I :Vocabulary & Grammatical Structure (20%;)

Directions: There are 20 incomplete sentences in this part. For each sentence

there are four choices marked A, B, C and D. Choosec the ONE answer that best com-

pletes the sentence. Then blacken the corresponding letter on the Answer Sheet with a

pencil.

Section A  Vocabulary

1.

He is among those lucky students who have won to first-rate universities.
A. permission B. admittance C. profession D. admission
Security officials say that computer crime is easy to accomplish and hard to
A.defy B. define C. deduce D. detect
Thomas Edison his success as an inventor to 10% inspiration and 90 % per-
spiration.
A. devoted B. executed C. attributed D. instituted
He said he had no intention of relations with them.
A. breaking up B. breaking out C. breaking down D. breaking off
He offered to her a hand as the suitcase was too heavy for her to carry.
A. help B. show C. borrow D. lend
The chief manager refused to on the rumour that he was going to resign.
A. explain B. talk C. speak D. comment
We were frightened by the of the crowd.
A. hospitality B. honesty C. humanity D. hostility
Can you _ me on the phone by the sound of my voice?
A. make up B. make over C. make out D. make off

. I have so much work to do that a holiday for me this year is
A.in question B. out of question

9.
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C. out of the question D. at random

10. Horseback riding both the skill of handling a horse and mastery of diverse
riding styles.

A. fosters B. emphasizes C. exaggerates D. embraces

Section B Grammar

11. “Did your father go to New York?”“No,his doctor suggested that he i
A. not go B. is not go C. won’t go D. isn’t going
12. at the sad news, he couldn’t say a single word for some time,
A. Astonished B. Astonishing
C. To astonish D. Having astonished
13. Tt is strange that you say such a thing.
A. would B. should C. will D. shall
14. » we went to swimming.
A. Being a hot day B. The day being hot,
C.Due to a hot day D. It was a hot day
15. Fifteen minutes 1 can spare to talk over this matter with you.
A. are that B.1is all C.are all D.is that
16. 1 a doctor now, if I had studied medical science in my youth.
A. were B. should be
C. had been D. should have been
17. 1 had hardly sat down he stepped in.
A. when B. that C. until D. after
18. His proposal was rejected that the talks in Geneva.
A. would be held B. should be held
C. were to be held D. had been held
19. Helen apologized for to attend the party.
A. her not being able B. her being not able
C. her being able not D. not her being able
20. is well-known to all ,too much stress can cause disease.
ATt B. That C. As D. Which

Part I . Reading Comprehension (50%)

Directions: There are 5 passages in this part. Each passage is followed by some
questions or unfinished statements. For each of them there are four choices marked A,
B, C and D. You should choose the ONE best answer and blacken the corresponding

* 3 L2



letter on the Answer Sheet with a pencil.
Quesions 21 to 24 are based on the following passage:

Passage 1

In former times doctors in Taiwan,who were considered saviors, were greatly ad-
mired. This is not only because they were able to relieve sick people of their pain and
save their lives, but because they demonstrated admirable willingness to help the
sick.

Now in this industrialized world people are inclined to choose material posses-
sions. This is true of doctors, too. The high income of doctors is the envy of other
people. Many high school graduates are eager to get into medical colleges, and count-
less girls consider doctors to be their best choice of husbands. For many years the
public has charged that doctors in public hospitals demand money from patients. The
amount of money the patients give determines the kind of treatment they rececive. It
has also been said that drug companies have to pay the doctors so that the latter will
use their products.

Recently, a large medicine factory set up by U. S. investors declared that it will
stop giving kickbacks to doctors as the factory has spent too much to promote sales
over the years. This declaration has caused quite a stir in our society. We wonder
what the officials who have denied the dealings mentioned above will say about this.
21. According to the passage, why did the doctors in Taiwan deserve our highest ad-

miration in former times?

A. They were a group of qualified doctors.

B. They ranked first in wealth.

C. They were able to cure the sick of poverty.

D. They were the doctors with medical morals as well as medical skill.

22. Why do many girls regard doctors as their ideal choice of husbands?

A. Doctors are saviors.

B. Doctors are honest.

C. They get married to doctors for love.

D. They want to live in great luxury after marriage.

23. Why shouldn’ doctors in public hospitals ask for the extra money from the sick?

A. The so-called extra money is a tip to nurses.

B. The so-called extra money is ill-gotten money.

. C. Doctoré are honest.
D. Doctors have additional money given by the hospital every year.
o 4.



24. The word “kickback” probably means

A. a doctor’s legal income

B. additional money for doctor’s good service
C. a doctor’s retiring money
D.

money offered a doctor for unfair things
Questions 25 to 28 are based on the following passage:

Passage 2

There are three stages of culture shock. In the first stage, the newcomers like
their environment. Then, when the newness wears off, they begin to hate the new
culture. In the final stage of culture shock, the newcomers begin to adjust to their
surroundings and, as a result, enjoy their life more.

Some of the factors in culture shock are obvious. Maybe the weather is unpleas-
ant. Perhaps the customs are different. Perhaps the public service systems are difficut
to figure out and you make mistakes. The simplest things seem difficult. The lan-
guage may be difficult. The food may seem strange to you. You mav feel like every-
one is watching you. In fact, you are always watching yourself.

Culture shock produces a feeling of disorientation (3 ). This disorientation
may be home sickness, imagined illnesses, or even paranoia. When pepole feel the
disorientation of culture shock, they sometimes feel like staying within their room or
apartment to give themselves a sense of security. This escape does solve the problem
of culture shock for the short term, but does nothing to familiarize the person more
with the culture. Familiarity and experience are the long term solutions to the problem of |
culture shock.

25. It is for a newcomer to hate the new environment at some time in the ad-

justment to the new surroundings.

A. strange B. entertaining C. typical D. necessary
26. The word “paranoia” probably means a feeling of .
A. security B. happiness C. experience D. fear
27. The author thinks that it is idea for people to stay in their homes as a solu-

tion to culture shock.
A. not a good B. a great C. not a bad D. a good
28. According to the author, adjustment to a new culture is

A. impossible B. difficult C. annoying C. easy

Questions 29 to 32 are based on the following passage:



Passage 3

One phase of the business cycle is the expansion phase. This phase is a two-fold
one, including recovery and prosperity. During the recovery period there is evergrow-
ing expansion of existing facilities, and new facilities for production are created. More
businesses are created and older ones expanded. Improvements of various kinds are
made. There is an ever increasing optimism about the future of economic growth.
Much capital is invested in machinery or “heavy” industry. More labor is employed.
More raw materials are required. As one part of the economy develops, other parts
are affected. For example, a great expansion in automobiles results in an expansion of
the steel, glass, and rubber industries. Roads are required; thus the cement and ma-
chinery industries are stimulated. Demand for labor and materials results in greater
prosperity for workers and suppliers of raw materials, including farmers. This in-
creases purchasing power and the volume of goods bought and sold. Thus prosperity
is spread out among the various portions of the population. The prosperity period may
continue to rise and rise without an apparent end. However, a time comes when this
phase reaches a peak and stops spiralling (# g )upwards. This is the end of the ex-
pansion phase.
29. The title below that best expresses the idea of this passage is. .

A. The Business Cycle B. The Recovery Stage

C. An Expanding Society D. The Period of Good Times
30. Prosperity in one industry

A. reflects itself in many other industries

B. will affect the steel industry

C. will end abruptly

D. will help all portions of society except the farmers

31. Which of the follwing industries will probably be a good indicator of a period of

expansion?
A. Toys B. Machine Tools. C. Foodstuffs D. Farming.
32. During the period of prosperity, people regard the future .
~ A. cautiously B.in a confident manner
C. practically D. unconcernedly

Questions 33 to 36 are based on the following passage:

Passage 4
In today’s world, insurance plays a vital role in the economic and social welfare of
the entire population. The wish to guard against dangers to life and property is basic

L



